>> Printed Version Setup << Week 17 Knights-Guards-2023-2024

Tuesday	6:30 pm	
---------	---------	--

_

Imperial Lanes . Lane Assignments

Page 1

Lanes 1 - 34

	Lane Assignments									
	1-2	3-4	5-6	7-8	9-10	<u>11-12</u>	<u>13-14</u>	<u>15-16</u>	<u>17-18</u>	
Toda	y 20-9	25-2	5-16	23-1	21-15	24-11	6-26	17-13	4-32	
Next We	eek 16-21	4-29	15-17	26-28	3-20	1-19	13-23	11- 18	30-6	
	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>	<u>25-26</u>	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>		
Toda	y 10-12	27-14	18-31	34-3	19-7	29-8	33-28	22-30		
Next We	eek 9-24	31-22	7-34	12-33	32-10	2-27	8-25	14-5		

Team Rosters

Team Rosters											
Name	Pins Gms		Avg	Name	Pins Gms	_	Avg				
Lane 1 - 20 - Macomb Group				Lane 2 - 9 - M & M Garage Doors							
Randy Heck	6426	42	157	Randy Smith	7394	36	205				
Ken Swiantek	6067	33	183	Dave Waldowski	6947	39	178				
Kirk M. Swiantek	8180	42	194	Mark Runson	2459	13	200				
Errol Gettner	7841	42	186	Mike Bucholtz	9127	42	217				
Andrew D. LaCommare	8351	39	214	Todd Milavec	7026	33	212				
Lloyd Heck	2249	15	162	Bob Nightingale	1135	6	bk200				
Jason M. Sorak	0	0	bk184	Jeff Kay	6715	38	176				
Randy Porzondek	2738	15	182	Joe Michael II	5168	27	191				
Lane 3 - 25 - Radical Storm				Lane 4 - 2 - Stick That Bitch							
Lee Prevost	8577	48	178	Tom Djurasaj	9243	48	198				
Steve Mahler	7395	42	176	John J. Flaherty	8203	45	182				
William Grabowski	7877	42	187	Jessica A. Tyler	3917	21	186				
John Poston	8908	45	197	Ken McCarthy	8769	45	195				
Wes Akers	7635	39	195	Rich Wahoski	0	0	bk201				
Steve Adams	446	3	bk176	Chris A. Sage	3399	15	226				
Jason D. Meeks	2303	12	191	Shane M. Matthews	1138	6	bk200				
				Pat Moore	637	3	bk217				
Lane 5 - 5 - Shallow AL's				Lane 6 - 16 - Deuce and a Quarter							
Matt St Onge	7363	36	204	Ed Leser	8791	42	209				
Dan Lambert	7316	45	162	Patrick Teahan	9354	48	194				
Dave St Onge	2297	45 15	153	Keith Pinchback	8085	40	194				
Mike Herman	8309	42	197	Bryant Henderson	7702	39	192				
Todd S. Kolassa	1926	42 9	214	James A. Barnes Jr	9761	48	211				
Nicholas Prytula	8577	42	204	Huey P. Herron Jr	3340	40 18	188				
-											
Ron A. Kortright Al Jerzewski	2987 5133	15 30	204 182	William A. McClure	0	0	180				
Lane 7 - 23 - 1.P.C.	5155	30	102	Lana 0. 1. Illitimata Can Cana							
			101	Lane 8 - 1 - Ultimate Car Care			100				
Chris A Yee	8378	45	186	Joe Heyman	8409	45	189				
Kyle A. Gonzales	8917	48	185	Steve Kozak	10078	48	209				
Kevin M. Yee	8914	42	212	Vito Bommarito	8951	45	198				
Tony R. Gonzales	9632	45	214	Dave Dwojakowski	10063	48	209				
Chris M Yee	7641	39	195	Jen Heyman	4389	21	209				
Gerald R. Yorkie Jr	3999	21	190	Jeff Peoples	5380	24	224				
Patrick M. O'Connor	0	0	bk169	John P. Benincasa	0	0	bk194				
Jim Brasher	0	0	bk206	Dino J. Fabbri	1828	9	207				
Lane 9 - 21 - P.L.J. Distributing				Lane 10 - 15 - Wasik Funeral Home	e						
Craig Odren	8408	42	200	Dan Ruffi	6886	36	191				
Steve Talerico	8254	45	183	Jim Ballinger	7375	39	189				
Paul Jurgelewicz	8754	48	182	Greg Merecki	9035	48	188				
Sandy Schultz	8153	39	209	Jerry Thiel	9049	48	188				
Lonnie Olsen	10089	45	224	Bob Schimeck	9924	48	206				
Rich Pribula	1193	6	bk192	William J. Grifka	2882	15	192				
Tony Gallo	2479	12	206	Larry P. Ballinger	0	0	180				
Al Prior	566	3	bk211	Eric B. Racette	0	0	bk192				
Lane 11 - 24 - Top Notch Installati				Lane 12 - 11 - Band Of Brothers							
James Williams Jr	7886	48	164	Paul Ban III	9304	45	206				
Gary Devier	4873	30	176	Eric Sellers	9696	48	200				
Joe Lawrence	7830	42	186	Rob Weintraub	9758	48	202				
James R. Mills	8464	48	176	Kevin J. Chrysler	7411	40	185				
Don Wynn	7829	39	200	Corey Maliszewski	9013	40	200				
Kathy Williams	3757	21	186	Ted Scarborough	2082	45 11	189				
Louis T. Savarino	949	6	bk161	Pete Marsh	599	3	bk191				
Jim Williams	1126	6	bk101 bk211	r ete iviai sil	233	3	DELAI				
	1120	0	UKZTI	Lana 14 OC Averal avera Comica							
Lane 13 - 6 - WE DRINK			405	Lane 14 - 26 - Avay Lawn Service-	14453723173	07					
Mark L. Bokano	9406	48	195	Don Cloven	5263	27	194				
Steve Rock	3050	18	169	Randy Young	6695	42	166				
Brandon Prano	8419	48	175	Chris Mathewson	6694	36	185				
Jarrod Holle	7686	39	197	John Baron Jr	8420	39	215				
Joseph Lerchenfeld	9891	48	206	Dan Vandenhemel	9017	42	214				
Dave Lerchenfeld	6742	36	187	John W. Baron Sr	0	0	bk194				
Dave Rock	0	0	bk206	Jessica Bannasch	7010	36	194				
				Steve Nihls	1634	12	136				
Lane 15 - 17 - Country Inn				Lane 16 - 13 - Its Just a Dic							
Rick Kelof	8224	42	199	Paul Price	9752	48	203				
Brendan Desantis	9108	45	202	Emma N. Price	7568	42	180				
Rich Woodard	8276	48	176	Ted Halt	10060	48	209				
John E. Fedorka	8138	39	208	Ryan Nelson	6650	30	222				
Joe Cianciolo Jr	7137	33	216	Mike Lattuca	9988	45	221				
Paul Neuman	0	0	bk201	Josh Snay	3250	15	216				
Jason G. Lewis	1843	9	206	Eric Lesmeister	688	3	bk217				
Jason Korzeniowski	3289	15	219	Daniella k. DeCruydt	1872	9	208				

Name Pine (mode)	Printed Version Setup << Week 17 d	of 32		Knights-Guards-2023-2024						
Byon Machinder 4223 39 12.6 Joe Thomas 8226 39 Bar Cernar 837.0 42 19.9 Pad Davie 7011 83 Bar Cernar 837.0 42 19.9 Pad Davie 7011 83 Bar Cernar 837.0 42 19.9 Pad Davie 7011 83 Bar Cernar 0 0 HA230 Pad Davie 7011 83 Bar Contant 0 0 HA230 Pad Davie 713 76 Bar Songo, T 1312 43 200 Carter Milasinovich 9313 46 Bas Songo, T 1312 216 Carter Milasinovich 9313 46 Bas Songo, T 132 216 Notan None 9313 46 Bas Songo, T 132 216 Notan None 9313 46 Bas Songo, T 132 216 Notan None 9313 46 Bas Songo, T 138 21 Caron C. Regu				Avg	Name	Pins Gms		Avg		
Space Chypha B1B0 B2 209 Chad Hatton S005 B30 Damond Hinnisuu 6150 33 166 Brandor M. Barborn 6674 331 Damond Hinnisuu 6150 33 166 Brandor M. Barborn 6674 331 Damond Hinnisuu 0161 450 167 Starborn 151 Damond Hinnisuu 0161 450 207 Jacob C. Matheson 6512 45 Starb Charl 9350 443 207 Chandler M. Matheson 8572 45 Starb Charl 9350 443 2026 Contron C. Rogus 0 0 Starb Charl 1324 45 217 Cantro M. Matheson 857 45 Starb Charl 1349 45 217 Cantro M. Matheson 857 45 Starb Charl 1349 45 147 Matheson 100 100 100 100 100 100 100 100 100 100 100	ane 17 - 4 - Capstone Tax Services				Lane 18 - 32 - 5 Guys - 9 Balls					
Date Camber B375 42 199 Patt Swite 7911 88 Date Hindstu 623 3 166 Brandm M. Rabhom 6674 33 Date Hindstu 623 3 bb223 Mile P. Stasyk 780 567 Stan Listion 0 0 bb223 Mile P. Stasyk 780 780 Stan Listion 0 0 bb237 Mile P. Stasyk 787 780 Date Hondor 0 0 200 Chandler M. Matheson 9518 48 Date Stasy 216 Notanite M. Matheson 9113 48 Mark K. Moore 718 32 216 Carler Milesonite Cargon 1007 45 Ban Addinite 9139 42 Bak Date Matheson 9113 45 Ban Matheson 9134 45 214 Gavin Lisewityn 907 45 Ban Matheson 9534 45 216 Gavin Lisewityn 907 45 Ban Matheson </td <td>Ryan Mackinder</td> <td>4928</td> <td>39</td> <td>126</td> <td>Joe Thomas</td> <td>8226</td> <td>39</td> <td>2</td>	Ryan Mackinder	4928	39	126	Joe Thomas	8226	39	2		
Jamond Minatsu 6150 23 186 Brando M. Rathburn 6674 33 Nick Kett 0 0 b/207 Mike P. Stayk 128 6 Kick Kett 0 0 b/207 Mike P. Stayk 128 6 Sain B. Contandi 471 15 Jamas J. Machades 0 0 Sain B. Contandi 471 15 Jamas J. Machades 0 0 Sain B. Contandi 9736 45 207 Ghandler M. Mutheson 9572 45 Jacob Bonacorsi 9736 45 207 Chandler M. Mutheson 9571 43 Jacob Bonacorsi 9746 21 Garanter Malanovich 107 45 Jacob Bonacorsi 914 6 116 Darin Levellyn 917 45 Jacob Bonacorsi 917 42 116 Darin Levellyn 917 45 Jacob Bonacorsi 912 22 116 Darin Levellyn 917 11 Jacob Bonacorsi <td>Paul Chyba</td> <td>8180</td> <td>39</td> <td>209</td> <td>Chad Hutton</td> <td>5805</td> <td>30</td> <td>2</td>	Paul Chyba	8180	39	209	Chad Hutton	5805	30	2		
Jahn Hinstau 9.20 Joff J. Staryk 7480 96 Sein Little 9618 48 2044 Kerin D. Kinefelter 3147 15 sail B. Costandi 4210 30 148 Lanes J. Macioca 0 0 sain I. Foste T Lane 20 12.7 Fear 12 T Lane 20 12.7 Fear 12 sain J. Foste T 132 32 207 Lace 20 12.7 Fear 12 T Lane 20 12.7 Fear 12 T Lane 20 12.7 Fear 12 Star 12.7 Fear 1	Dan Cetnar	8375	42	199	Pat Davis	7911	38	2		
Hick Kerth 0 b/207 Mike P. Stayk 1395 6 Saih B. Costandi 4210 30 148 James J. Macioce 0 0 Saih B. Costandi 4210 30 148 James J. Macioce 0 0 Saih B. Costandi 431 207 Lacob C. Matheson 9518 48 Saih B. Costandi 431 207 Lacob C. Matheson 9518 48 Saih B. Costandi 431 2010 Cacter Milasinovich 9571 48 Mark K. Moore 7158 32 137 Mark C. Rogus 1267 6 Saih M. Core 3945 21 Term Or. Rogus 0 0 0 Saih M. Core 7381 42 146 Danie Lowelyn 4971 24 Saih M. Core 7382 42 1267 42 146 Banie Lowelyn 977 43 Saih M. Core 7382 42 126 Bida Thomas 1978 42 42	Damond Hinatsu	6150	33		Brandon M. Rathburn	6674	33	2		
Cath Other Other <tho< td=""><td>Dalen Hinatsu</td><td>628</td><td></td><td></td><td>Jeff J. Stasyk</td><td>7480</td><td>36</td><td>2</td></tho<>	Dalen Hinatsu	628			Jeff J. Stasyk	7480	36	2		
Part B. CostandiQ10Q10James J. Vale. Costandiel M. MathesonQ10Marin L. Foare91545207Costandiel M. Matheson91348Gaob Bonacoria93545207Conadiel M. Matheson91348Jaca D. Conadie M. Matheson91348212Conadie M. Matheson91348Jaca D. Conadie M. Matheson100240212Conadie M. Matheson91348Jaca D. Conadie M. Matheson100240100402040Jaca D. Conadie M. Matheson100240 </td <td>Nick Krett</td> <td>0</td> <td>0</td> <td>bk207</td> <td>Mike P. Stasyk</td> <td>1295</td> <td>6</td> <td>bk2</td>	Nick Krett	0	0	bk207	Mike P. Stasyk	1295	6	bk2		
Jame 1 P. 10 - Team 10 Lane 20 12 - Team 12 Jacob Branorsi 9515 45 2007 Chandler M. Mahreson 9515 45 Jacob Branorsi 955 45 2007 Chandler M. Mahreson 9713 48 Jacob Branorsi 955 45 200 Chandler M. Mahreson 9713 48 Jacob Machine 312 3 216 Nolars N. Horne 9711 48 Jacob Machine 3149 6 butto 0 0 0 0 0 0 Jane Data Mahrine 9124 186 Jacob Mackwisk 1074 45 106 100 107 10 0 0 0 0 0 0 107 <	Keith Little	9618	48	204	Kevin D. Klinefelter	3147	15	2		
ustin L. Foarse 9915 45 207 Jacob C. Matheson 9918 48 accob Benacoria 9950 45 207 Craig M. Matheson 9173 48 afar K. Maore 7158 33 216 Nolan N. Horne 9571 48 besh St Onge 10101 48 220 Carter Milasinovich 1007 45 besh St Onge 1011 48 220 Carter Milasinovich 1007 45 besh St Onge 1044 210 Contro C. Rogus 0 0 0 and Thornas 5923 42 116 Dacob C. Markesonik 827 32 tank Bark 9212 42 216 Bard Thornas 8928 42 tank Bark 9212 42 221 Kyle Hayes 9957 45 tank Bark 9231 42 221 Kyle Hayes 9957 45 tank Bark 9261 42 224 Kyle Hayes 9967 45	Paul B. Costandi	4210	30	148	James J. Macioce	0	0	bk1		
bis bis Onge. 45 207 Chandler M. Matheson 857 45 bis Stroge. 718 33 276 Nolan N. Horne 971 48 tark K. Moore 718 33 276 Nolan N. Horne 971 48 texin A. Moore 3945 21 107 Mark C. Rogus 1007 45 texin A. Moore 3945 21 107 Mark C. Rogus 1007 49 texin A. Moore 3945 21 100 Connor C. Rogus 00 107 7 texin A. Stride 924 45 111 Darin Livewillyn 0791 45 texin A. Stride 921 42 126 Brad Thomas 8928 42 texin Marka 901 42 221 Cody McRay 781 33 30 term K. Ryan 328 42 221 Anterwi Johnon 966 43 43 44 43 44 44 44 44 44 44 </td <td>ane 19 - 10 - Team 10</td> <td></td> <td></td> <td></td> <td>Lane 20 - 12 - Team 12</td> <td></td> <td></td> <td></td>	ane 19 - 10 - Team 10				Lane 20 - 12 - Team 12					
bib St Orge, J. B12 99 208 Craig M, Matheson 911 40 trende AS Orge 1011 48 210 Carter Milasinovich 1007 45 ternd AS Orge 1011 48 210 Carter Milasinovich 1007 45 tern A. Taylor 134 3 bit31 Carter Milasinovich 107 46 tern A. Taylor 14 3 bit31 Carter Milasinovich 107 45 tern Back 6 bit30 Carter Milasinovich 107 45 tern Back 112 42 156 Darm Livereign 975 45 tern M. Ryan 236 15 291 Cody McKay 7810 30 atren M. Ryan 2365 15 291 Cody McKay 7810 30 atren M. Ryan 2362 48 127 Arey J. Beola 989 48 274 45 tern M. Ryan 330 bit202 Tommy M. Mackool 242 <	ustin L. Foate	9315	45		Jacob C. Matheson	9518	48	1		
Jark K. Moree 7188 33 216 Nulain N. Horne 957 48 centra M. Bindine 1349 6 Canter Milaniovich 10074 45 centra M. Bindine 1349 6 Canter Milaniovich 10074 45 and 21 - 27. Small Z Crew Lane 22 - 14 - 118 What H is T 1	acob Bonacorsi	9356	45	207	Chandler M. Matheson	8572	45	1		
Intendam Strönge 1010 48 210 Carter Milasinovich 1074 45 Bern A. Taylor 1345 21 187 Mark C. Rogus 1267 6 Bern A. Taylor 514 3 bk191 6 Birn A. Taylor 514 3 bk191 7 7 6 Birn A. Taylor 514 3 bk191 Gavin LLewellyn 4091 21 Birn A. Taylor 6364 42 186 Jacob Macowiak B27 39 Frank Radike 9012 42 215 Brad Thomas B28 42 Inthony Radike 9201 42 215 Cady McKay 7810 39 arences Radike 0 0 bk180 Charlie Schutz 593 30 arence Stant Mither 946 42 130 220 Mark Mither 947 45 aren Stant 9778 42 130 100	Bob St Onge Jr		39	208	Craig M. Matheson		48	1		
epin A. More ⁱⁿ 946 21 197 Mark C. Rogus 120 0 name A. Taylor 54 3 bb101 Connor C. Rogus 0 0 name 21 - 27 - Snallz Crew Eane 22 - 14 - It is What It Is Mark It Is 1 1 name 21 - 27 - Snallz Crew Eane 22 - 14 - It is What It Is 1 1 1 name Rat Ratk 0 182 43 181 Darin Llewellyn 0718 42 name Ratk 0 12 221 Kle Hayes 935 45 name Ratk 0 0 bb100 Cody McKay L 710 39 namere Rathe 0 0 bb100 Cody McKay L 710 30 namere Rathe 0 0 bb100 Cody McKay L 710 30 namere Rathe 716 42 207 Amerey Johnson 9499 43 reg Rathe 716 42 207 Tommy M. Mackoul 940 43 reg Rathe								1		
near M. Faylor 144 3 bk101 Connor C. Rogus 0 0 ane 2.1 - 27 - Smallz Crew Lane 2.2 - 14 - His What H is Jaceb Mackowiak 21 inio Dicicoo 8182 45 181 Darmin Llewellyn 4091 21 inio Dicicoo 8182 45 181 Darmin Llewellyn 8267 39 tank Radike 9012 42 216 Biad Thomas 8268 45 tank Radike 9021 42 217 Bickowiak 8267 30 tank Radike 0 0 bk202 Machewiak Machewiak 937 30 and Carini J 0 0 bk202 Machewiak 947 43 30 30 and Sata 132 241 Andrew Johnson 948 48 136 48 136 48 136 48 136 48 136 48 136 49 46 36 45 48 48 136 48 <td>rendan St Onge</td> <td>10101</td> <td>48</td> <td>210</td> <td></td> <td>10074</td> <td></td> <td>2</td>	rendan St Onge	10101	48	210		10074		2		
Iam A. Taylor 514 3 bits Iam 21 - 27 - Small Zrew Lame 22 - 14 - His What His 45 Iac Ball Zrew Gavin Lewellyn 401 45 Iac Ball Zrew Gavin Lewellyn 401 45 Iac Ball Zrew Gavin Lewellyn 401 45 Iac Ball Zrew 186 Jaccob Mackowiak 826 42 Iar Ratak 9012 42 216 Brad Thomas 8928 42 Infloring Ratkie 9012 42 216 Cody McKay 7810 39 Jaurence Ratkie 0 0 bk180 Charlie Schultz 90 a Jan Haerens 8302 48 172 Arery J. Beola 9997 48 Jan Haerens 8302 48 172 Arery J. Beola 997 45 Jan Barna Markik 910 48 206 Kyle R. Diala 807 39 Jan D. Short 302 15 201 Kanthatin 802 164 18					-			bk2		
Lane 22 - 14 - It is What It is Lane 22 - 14 - It is What It is line Dicico 8182 45 181 Darin Lievellyn 4091 21 nino Dicico 8182 45 181 Darin Lievellyn 4091 21 nino Dicico 8182 45 181 Darin Lievellyn 4091 21 nino Dicico 8182 45 181 Darin Lievellyn 4091 21 nino Dicico 8182 42 121 Kyle Hayes 9935 45 rem K. Pyan 226 15 219 Cody McKay 7810 30 nene 24 - 17 - Dead Squirreis Lane 24 - 21 McKer Johnson 9697 48 reg Renyola 7708 42 183 Zack E. Christoff 427 45 at Sharon 503 bkl22 Termy M. Mackool 9226 45 45 130 trig Reg Regnol 903 48 18 Jerel Bernask 477 31 trig K. Hanson 0 0<	ean McBride	1349	6	bk201	Connor C. Rogus	0	0	1		
Ber Bischward 9634 45 214 Grain Lewellyn 9178 45 inis Dictoco 8182 45 186 Jacob Mackowiak 8267 39 anak Ratike 9912 42 216 Brad Thomas 8274 39 anak Ratike 9917 42 221 Kyle Hayes 7810 39 aurence Ratike 0 0 bk180 Charlis Schultz 593 3 aurence Ratike 0 0 bk202 Mitchell Schultz 593 3 aurence Ratike 0 0 bk202 Mitchell Schultz 593 3 aurence Ratike 0 0 bk202 Mitchell Schultz 69 48 aurence Ratike 0.0 bk202 Andrew Johnson 967 48 aurence Ratike 10.0 bk201 Andrew Johnson 9226 45 aurence Ratike 10.0 bk201 Andrew Johnson 916 45 aurence Ratishan 13	ilenn A. Taylor	514	3	bk191						
Inc Discover BT2 45 Tet Darith Lewellyn 9178 45 hin Kargol 7389 42 136 Maccowaik 826 42 rank Rathle 912 42 216 Brad Thomas 8928 42 rank Rathle 9291 42 217 Kyle Hayes 99957 45 arenze Ar alf Arthyn 0 0 bk202 Mitchell Schulviz 90 0 and 2.3 - 18 - Dead Squirrels - Lane 2.4 - 31 - MLF / Hunsts 9967 48 and Haerens 8302 42 133 Zack E. Christoff 8427 45 ang Haerens 9030 48 206 Kyle R. Dicia 8477 39 and Short 3023 15 201 Kenneth Merrick 2471 33 tar S. Hanson 0 0 bk221 - - - 34 tar S. Hanson 0 0 bk221 - - - 35 45 <t< td=""><td>ane 21 - 27 - Smallz Crew</td><td></td><td></td><td></td><td>Lane 22 - 14 - It is What It Is</td><td></td><td></td><td></td></t<>	ane 21 - 27 - Smallz Crew				Lane 22 - 14 - It is What It Is					
ohn Karpol 789 42 186 Jacob Mackowiak 8267 39 anthory Ratke 9911 42 221 Kyde Hayes 9755 45 anthory Ratke 9911 42 221 Kyde Hayes 9785 45 anthory Ratke 0 0 bk180 Charlie Schultz 593 3 antarene Ratke 0 0 bk202 Mitchell Schultz 593 3 antarene Ratke 0 0 bk202 Andrey Johnson 9897 48 an Haerene 8302 48 172 Avery J. Besola 8077 49 at Short 9000 48 206 Kyle R. Didia 8077 33 at Short 9020 48 188 Jarel Bernasek 4717 33 at Short 9033 48 Barel Bernasek 4717 33 30 at Skando 873 3 180 Jarene Berlis 5131 30 at Short	lec Blackwood	9634	45	214	Gavin LLewellyn	4091	21	1		
nank Raike 912 42 216 Brad Thomas 9492 45 rent M. Nyan 328 15 219 Cody McKay 7810 39 aurence Raitke 0 0 bk100 Charlis Schulvitz 93 3 and Quint Jr 0 bk202 Mitcheil Schulvitz 93 3 and Data 7810 42 234 Andrey Johnson 9467 48 and Haerena 8402 42 133 Zack F. Christoff 8407 45 and Phorena 9709 48 206 Kyle R. Didia 8677 39 and Short 3023 15 201 Kanneth Kanch 8677 32 ata Short 3023 15 201 Kancheneth Kanch 8677 32 ata Shart 3023 15 201 Kancheneth Kanch 8677 32 ata Shart 3023 3 Jacc Shart 30 32 30 ata Shanson <td< td=""><td>ino Dicicco</td><td>8182</td><td>45</td><td>181</td><td>Darrin Llewellyn</td><td>9178</td><td>45</td><td>2</td></td<>	ino Dicicco	8182	45	181	Darrin Llewellyn	9178	45	2		
rank Radike 912 42 216 Brad Thomas 942 45 rent M. Ryan 326 15 219 Cody McKay 7810 39 and Quin Jr 0 bk100 Charlle Schulzt 593 3 and Quin Jr 0 bk100 Charlle Schulzt 593 3 and Spart Schulzt Eare 24 - 37 - MLF Funct 596 3 and Haerens 8302 48 172 Avery, Jesola 9967 48 ang Haerens 8302 48 172 Avery, Jesola 9967 45 ang Haerens 8302 48 182 Andrew Johnson 9967 48 ang Schulzt 152 13 Zack F. Christoff 8427 45 ang Schulzt 3023 15 201 Kenneth Kerick 121 and Kushel 733 45 186 Janes Wells 8139 45 and Kushel 733 3 180 Mark Melnin 0 <td< td=""><td>ohn Kargol</td><td>7839</td><td>42</td><td>186</td><td>Jacob Mackowiak</td><td>8267</td><td>39</td><td>2</td></td<>	ohn Kargol	7839	42	186	Jacob Mackowiak	8267	39	2		
Pert M. Pyan 3286 15 219 Cody McKay 7810 39 anternee Raftke 0 b.k20 Mitchell Schultz 53 3 and Quin Jr 0 b.k20 Mitchell Schultz 53 3 and Z3 16 Charlis Schultz 0 0 and Z3 16 231 Mitchell Schultz 0 0 and Haerens 8302 42 244 Andrey J.Berola 9967 48 ang Assend 8302 48 172 Azery J.Berola 9677 499 ang Schort 9099 48 206 Kyler R. Didia 8677 39 and Schort 3023 3 b.K182 120 Kanseno 0 0 b.k22 121 and Schort 303 3 b.K182 126 126 3 430 and Kushel 7734 42 185 Andrew Lander Masson 0 0 and Scharon 333 <	•							2		
rent M. Iyan 3266 15 219 Cody McKay 7810 39 30 30 000 0000 0000 00000 00000 00000 000000	nthony Radtke	9291	42	221	Kyle Hayes	9955	45	2		
aurence facitike schultz 593 3 3 obn Quinn van Quinner Schultz 593 3 3 obn Quinn van Quinner Schultz 593 3 3 Van Quinner Schultz 593 4 3 2 4 4 31 * 11 * 11 * 11 * 11 * 11 * 11 *								2		
nh Qinn Jr. 0 bk202 Mitchell Schulwirz 0 0 ane 23 - 18 - Dead Squires una description 967 48 und Montreuil 9436 42 224 Andrew Johnson 967 48 an Isseens 8302 45 172 Averg J. Besola 9899 48 oug Perlogan 6714 42 207 Tormmy M. Mackool 922 45 oug Perlogan 6714 42 207 Tormmy M. Mackool 2452 12 in M. Short 302 15 201 Kenneth Merrick 2452 12 far S. Anson 0 0 bk21 12 12 12 far M. Kushel 793 48 188 Jerce Set - 3 - Handicrap 131 30 ate S baron 8376 42 197 Paul Maxon 9138 45 oott R. Zoltowski 124 6 bk200 Matt McMinu 9179 45 adan M. Kushel 793								bk2		
Image 24 - 31 - MULE Hunters ud Montreuil 946 42 224 Andrew Johnson 9967 48 an Haerens 8302 42 124 Andrew Johnson 9967 48 reg Reprolods 7778 42 123 Zack E. Christoff 442 44 uog Perhogan 6714 42 120 Tormmy M. Mackool 922 45 tar Short 9909 48 206 Kyle R. Didia 8677 39 ohn D. Short 3023 15 201 Kenneth Merrick 2452 12 ark S. Hanson 0 0 bk221 - - - - 34 348 B8 Jerel Bernaaek 4717 33 30 345 545 34 345								bk1		
ud Montreuil 946 42 224 Andrew Johnson 9967 48 an Haerens 8302 42 24 Avery JBesola 9969 48 reg Reynolds 7708 42 183 Zack E. Christoff 8427 45 oup Perhogan 871 42 183 Zack E. Christoff 847 39 at Nort 3003 15 206 K.yle R. Didia 867 39 at Nort 550 3 bk182 245 34 30 idam M. Kushel 7033 48 188 Jerel Bernasek 4717 33 idam M. Kushel 7430 39 190 Mike Williams 5131 30 ats Sharon 8376 42 197 Paul Maxon 9138 45 adari K. Kushel 5133 310 30 30 30 ats Sharon 7231 39 185 Jatin Schardon 9179 45 adale Chasevski 464<	-	0.81	194			1023	1993			
an Haerens 8302 44 172 Avery J. Beola 9899 48 ring Reynolds 7708 42 207 Tormry M. Mackool 9226 45 oug Pethogan 8714 42 207 Tormry M. Mackool 9262 45 at Short 300 3 bK182 Tormry M. Mackool 9262 452 12 ark S. Hanson 0 0 bk21 Turne 26 - 3 - Handicrap 7425 42 ark S. Hanson 903 48 Berel Bernasek 717 33 dam J. Kushel 7430 39 190 Mike Williams 513 30 dam J. Kushel 7430 42 185 Andrew Laporte 7427 42 dar J. Kushel 6373 3 18 Jeren 27 - Turn The Page 10 10 are Z7 - 19 - Lef's Ge Brandon 170 Michael Compton 9179 45 alla Sebastian 721 39 185 Justin D. Akers 7947 48		9436	42	224		9967	48	2		
reg Reynolds 7708 42 183 Zac, E. Christoff 442 207 oug Perhogan 8714 42 207 Tormmy M. Mackool 9226 45 at Short 9909 48 206 Kyle R. Didia 8677 39 ohn D. Short 3023 15 201 Kenneth Merrick 2452 12 at Short 500 bk221 Eane 26 - 3 - Handiorap 2452 22 tark S. Hanson 0 0 bk221 Eane 26 - 3 - Handiorap 772 33 tark S. Hanson 0 0 bk221 Eane 26 - 3 - Handiorap 772 42 24 tark S. Hanson 8378 45 168 Andrew Laperter 7425 42 24 dam J. Kushel 740 39 190 Mike Williams 5131 30 0 0 ent Kolewski 124 6 bk200 Matt McMinn 0 0 0 and K. Kushel 513 3 180 Justin D. Akers 7717 45 and K. Choper J. 767								2		
noing Perhagan 8714 42 207 Tommy M. Mackool 9226 45 nak Short 903 15 201 Kenneth Merrick 2452 12 nak Short 500 3 bk182 Lane 26 - 3 - Hahdicrap 12 ark S. Hanson 0 bk221 Lane 26 - 3 - Hahdicrap 7425 42 ark S. Hanson 7794 42 185 Andrew Laporte 7425 42 dam J. Kushel 7430 39 190 Mike Williams 5131 30 dam J. Kushel 7433 45 186 Jarnes Wells 8359 45 darew R. Kushel 8378 45 186 Jarnes Wells 8359 45 cott R. Zoltowski 444 3 100 0 0 0 are 27 - 17 Lurn The Page 133 180 144 45 100 100 in Boden 917 45 alla Sebastan 721 45 201 Johen Boden 917 45								1		
at Short 900 48 206 Kyle R. Didla 6677 39 bn D. Short 900 0 0 kk182 tark S. Hanson 0 0 kk21 tark S. Hanson 0 0 0 kk21 tark S. Hanson 0 0 0 kk21 tark S. Hanson 0 0 0 kk20 tark S. Hanson 0 0 0 kk20 tar S. Hans								2		
ohn D. Short 3023 15 201 Kenneth Merrick 2452 12 Iam X. Shanson 0 0 bk182 bk184					-			2		
ina M. Short 550 3 bk182 lark S. Hanson 0 0 bk221 lark S. Hanson 0 0 0 lark S. Hanson 0 0 0 lark S. Hanson 0 0 0 lark S. Hanson 0 0 0 Mike Williams 5131 30 lare Sharon 8378 45 186 James Wells 8359 45 ndrew R. Kushel 8306 42 197 Paul Maxon 9138 45 cott R. Zoltowski 1224 6 bk200 Matt McMinn 0 0 mer Zr 19 · Let'S Go Brandon 0 0 mer Zr 19 · Let'S Go Brandon 9157 45 lia Sebastin 7231 3 180 very S. Kushel 733 3 180 lare 27 - 19 · Let'S Go Brandon 9157 45 James Wells 8359 47 aniel Cooper Jr 7676 45 170 Michael Compton 9179 45 lia Sebastin 7231 45 Justin D. Akers 7947 48 yle G. Painter 9120 45 202 Jon Jerzewski 8721 45 lichael Gasiewski 9062 45 201 John Boden 9157 45 Lichael Gasiewski 9062 45 201 John Boden 9157 45 dar Wrhth 1626 9 180 Ryan Ghizmadin 1084 6 Mark W. Brown 0 0 mar 29 - 29 - Bechunters Talg Kromrel 8874 48 184 Jeff Schulte 9447 45 like Anderson 7340 42 180 Vito LaFata 6956 39 Gonovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 like Anderson 7340 42 180 Vito LaFata 6956 39 Gonovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 like Anderson 7340 42 180 Vito LaFata 6956 39 Gonovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 like Anderson 7340 42 180 Vito LaFata 6956 39 Mark W. Brown 3610 45 189 Randy Krzewski 5275 30 mory Chowa 8805 42 212 Scott Claeys 444 45 tric A. Haddad 0 0 0 bk204 Matt Watson 3638 18 lam Bock 0 0 0 bk204 Matt Watson 3638 18 lam Scottlin 6656 39 170 Ben Cicalo 2779 18 are 33 - 33 Dill Dill Trie Yelly 8662 46 19 Johna A. Krander 6091 42 are As 1 33 - Dill Z 212 Ryna W. Peoples 4005 24 are Maiorana 10476 48 218 Mike Strader 542 27 hare 31 - 33 - Dill Dill Trie Yelly 816 48 169 Wendall Ross 777 42 are Maiorana 10476 48 218 Mike Strader 542 27 Baro M. Nikks 1247 6 bk217 Ken Cicalo 110 7749 45 are As 3 - 22 - Cinco Borrachor trie Wells 1144 84 80 Mike Grader 542 277								2		
tark 8. Ansoon 0 bk221 ane 25 - 34 - Nothin Wrong With That Lane 26 - 3 - Handicrap tick Kushel 9033 48 188 Jerel Bernasek 4717 33 tidan M. Kushel 7794 42 185 Andrew Laporte 7435 42 dam J. Kushel 7430 39 190 Mike Williams 5131 30 ate Sharon 8376 45 186 James Wells 8339 45 ontrew K. Kushel 8306 42 197 Paul Maxon 9138 45 cott R. Zoltowski 1234 6 bk200 Matt McMinn 0 0 ent Krolewski 464 3 180 747 48 vers S. Kushel 513 3 180 747 48 alle Sebastian 7231 39 185 Justin D. Akers 7947 48 lichael Gasiewski 9062 45 201 John Boden 9157 45 lichael Gasiewski 9062 45 201 John Boden 9169					Kenneth Mernek	2452	12	2		
ane 25 - 34 - Nothin' Wrong With That Lane 26 - 3 - Handicrap lick Kushel 9033 48 188 Jerel Bernasek 4717 33 lidan M. Kushel 7430 39 190 Mike Williams 5131 30 late Sharon 8378 45 186 Andrew Laporte 7430 30 late Sharon 8378 45 186 James Wells 8336 45 orter R. Kushel 8306 42 197 Paul Maxon 9138 45 orter R. Zothowski: 1234 6 bk200 Matt McMinn 0 0 ent P. Jo Let's Go Brandon 131 30 180										
ick Kushel 903 48 188 Jerel Bernasek 4717 33 idan M. Kushel 7794 42 185 Andrew Laporte 7425 42 dam J. Kushel 7740 39 190 Mike Williams 5131 30 ate Sharon 8378 45 186 James Wells 8339 45 ate Sharon 8378 45 186 James Wells 8339 45 ordrew R. Kushel 8336 42 197 Paul Maxon 913 45 ordrew R. Kushel 513 3 180 metrolewski 464 3 wery S. Kushel 513 3 180 Justin D. Akers 7947 48 yle G. Painter 9120 45 2021 John Resond 1917 45 tick Archambault 9062 45 201 John Boden 9157 45 tick Archambault 90 b K196 Mary M. Brown 0 0 0			0	DKZZI	Lana 26 - 2 - Handiaran					
idan M, Kushel 774 42 185 Andrew Laporte 7425 42 dam J, Kushel 7430 39 190 Mike Williams 5131 30 ate Sharon 8378 45 186 James Wells 835 45 orter K, Rushel 8306 42 197 Paul Maxon 9138 45 oct R. Zoltowski 123 6 bk200 Matt McMin 0 0 ent Robewski 464 3 180	Sector and the sector se		40	100		4717	22	1		
dam J. Kushel 7420 39 190 Mike Williams 5131 30 ate Sharon 8378 45 186 James Wells 8359 45 otter K. Kushel 8366 42 197 Paul Maxon 0 0 ext Krolewski 164 3 180 0 0 ane Z7 - 19 - Let's Go Brandon 513 3 180 7.7 Tum The Page aniel Cooper Jr 7676 45 70 Michael Compton 9179 45 alia Sebastian 7231 39 185 Justin D. Akers 7947 48 yle G. Painter 9022 45 201 John Boden 9177 45 teve M. Painter 1524 9 169 Raymond Chizmadin 1084 6 tike Archambault 0 0 bK196 Mark W. Brown 0 0 tike Ardenson 7340 42 180 Vito LaFata 6565 39 om Ornowa 9356								1		
iate Sharon 8378 45 186 James Wells 8359 45 orter W. Kushel 1324 6 bk200 Matt McMinn 0 0 en Krobewski 464 3 180 5 5 5 5 5 5 5 5 5 7 7 767 45 170 Michael Compton 9179 45 alia Scbastian 7231 39 185 Justin D. Akers 8721 45 iscael Gasiewski 9062 45 2021 John Boden 19177 45 tice M. Painter 9757 45 216 Thomas K. Bond 1041 48 d Worth 1626 9 180 Rayan Staschke 714 3 oh P. Painter 1824 9 169 Rayon Ohizmadin 1084 6 tike Archambault 0 0 bk196 Mark W. Brown 0 0 on Cynowa 8310 45 189 Randy Krzewski 655 39 on Cynowa 8350 42 <td></td> <td></td> <td></td> <td></td> <td>Martine and Contract States and Contraction</td> <td></td> <td></td> <td></td>					Martine and Contract States and Contraction					
ndrew R. Kushel 8306 42 177 Paul Maxon 9138 45 cott R. Zoltowski 1234 6 bk200 Matt McMinn 0 0 ent Krolewski 153 3 180 0 0 ane 27 - 19 - Let's Go Brandon Tame 28 - 7 - Turn The Page 747 45 alial Sebastian 7231 39 185 Justin D. Akers 7947 45 yle G. Painter 9120 45 2021 Jon Jerzewski 745 45 yle G. Painter 9757 45 216 Thomas K. Bond 10414 48 d Worth 1626 9 180 Raynond Chizmadin 1084 6 ane 29 - 29 Beerhunters Eare 30 - 8 - Uncle Lenny's Hoes 747 45 traike Anderson 8510 45 189 Randy Krzewski 5275 36 om Cynowa 8510 45 189 Randy Krzewski 5275 36 on Cynowa 8510 45 189								1		
cott R. Zoltowski 1234 6 bk200 Matt McMinn 0 0 en Krolewski 464 3 180 ane Z7 - 19 - Let's Go Brandon Lane 28 - 7 - Turn The Page 5 aniel Cooper Jr 7676 45 170 Michael Compton 9179 45 alla Sebastian 7231 39 185 Justin D. Akers 7947 48 ilchael Gasiewski 9062 45 201 John Boden 9157 45 teve M. Painter 9757 45 216 Thomas K. Bond 10414 48 d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 itke Archambault 0 0 b419 Mark W. Brown 0 0 on Cynowa 8970 42 180 Vito LaFata 6956 39 on Cynowa								1		
ien Krolewski 464 3 180 very S. Kushel 513 3 180 anae 27 - 19 - Let's Go Brandon 170 Michael Compton 9179 45 alia Gebastian 7231 39 185 Justin D. Akers 7947 48 yle G. Painter 9120 45 202 Jon Jarzewski 8721 45 dichael Gasiewski 9062 45 201 John Boden 9157 45 dike Archambault 9062 45 201 John Boden 9167 45 dike Archambault 0 0 bk196 Mark W. Brown 0 0 ane 29 - 29 - Beerhunters Eane 30 - 8 - Uncle Lenny's Hoes 9447 45 dike Archambault 0 0 bk196 Mark W. Brown 0 0 dike Archambault 0 0 bk196 Mark W. Brown 202 21 teve Cynowa 8374 48 184 Jeff Schulte 9447 45 dike Ardenson 730 42 180 Wito LaFata 6956 39 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>2</td>								2		
very S, Kushel 513 3 180 ane 27 - 19 - Let's Co Brandon ILane 28 - 7 - Turn The Page aniel Cooper Jr. 7676 45 170 Michael Compton 9179 45 alia Sebastian 7231 39 185 Justin D. Akers 7947 48 gle G. Painter 9120 45 202 Jon Jerzewski 8721 45 ticheal Gasiewski 9062 45 201 Jon Boden 9157 45 ticheal Gasiewski 9052 45 201 Jon Boden 10414 48 d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Maymond Chizmadin 1084 6 tike Achambault 0 0 bk196 Mark W. Brown 0 0 ane 29 - 29 - Beerhunters Lane 30 - 8 - Uncle Lenny's Hoes 5275 36 omovin T. Oynowa 9356 42 212 Scott Claeys 9444 45					Matt McMinn	0	0	bk2		
ane 27 - 19 - Let's Go Brandon Lane 28 - 7 - Turn The Page taniel Cooper Jr 7676 45 170 Michael Compton 9179 45 alia Sebastian 7231 39 18 Justin D. Akers 7947 48 kje G. Painter 9120 45 202 Jon Jerzewski 8721 45 tkev M. Painter 9757 45 216 Thomas K. Bond 10414 48 d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 dike Archambault 0 bk196 Mark W. Brown 0 0 0 ane 29 - 29 - Beerhunters 1524 9 180 Vito LaFata 6956 39 fike Arderson 7340 42 180 Vito LaFata 6956 39 fornovin T. Oynowa 835 42 212 Scott Claeys 9444 45 ina Bock 0										
aniel Cooper Jr 7676 45 170 Michael Compton 9179 45 alia Sebastian 7231 39 185 Justin D. Akers 7947 48 yle G. Painter 9120 45 20 Jon Jarzewski 8721 45 tichael Gasiewski 9062 45 201 John Boden 9157 45 teve M. Painter 9757 45 216 Thomas K. Bond 10414 48 d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 nike Archambault 0 0 bk196 Mark W. Brown 0 0 ane 29 - 29 Berhunters Eane 30 - 8 - Uncle Lenny's Hoes 9447 45 nike Anderson 7340 42 180 Vito LaFata 6956 39 om Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Hadda <td></td> <td>513</td> <td>3</td> <td>180</td> <td></td> <td></td> <td></td> <td></td>		513	3	180						
alia Sebastian 7231 39 185 Justin D. Akers 7947 48 yle G. Painter 9120 45 202 Jon Jerzewski 8721 45 tichael Gasiewski 9062 45 202 Jon Jerzewski 8721 45 tichael Gasiewski 9062 45 201 Jon Jerzewski 8721 45 tichael Gasiewski 9062 45 201 Thomas K. Bond 10414 48 d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Mark W. Brown 0 0 and P. Painter 0 0 bk196 Mark W. Brown 0 0 and Scher 744 8 184 Jeff Schulte 9447 45 tike Anderson 7340 42 180 Vito LaFata 6956 39 om Vjnowa 8350 42 122 Scott Claeys 9444 45 tike Anderson 7340 42 205 Dave Hemmen 4326 24 </td <td></td> <td></td> <td></td> <td></td> <td>The second se</td> <td></td> <td></td> <td></td>					The second se					
yle G. Painter 9120 45 202 Jon Jerzewski 8721 45 tícheal Gasiewski 9062 45 201 John Boden 9157 45 tícheal Gasiewski 9062 45 201 John Boden 9157 45 tícheal Gasiewski 9057 45 201 Thomas K. Bond 104 48 d Worth 1626 9 180 Ryamond Chizmadin 1084 6 tike Andrambault 0 0 bk196 Mark W. Brown 0 0 0 ane 29 - 29 - Beerhunters Eane 30 - 8 - Uncle Lenny's Hoes 9447 45 tike Anderson 7340 42 189 Randy Krzewski 5275 36 omovin T. Cynowa 9355 42 212 Scott Claeys 944 45 tice Cynowa 8935 42 212 Scott Claeys 944 45 tice Andadd 0 0 bk204 Matt Watson 3638 18 ana Bock 0 0 bk204 Matt Watson 279 18 <td>and the second second</td> <td></td> <td></td> <td></td> <td>Construction of the second state of the second</td> <td></td> <td></td> <td>2</td>	and the second				Construction of the second state of the second			2		
Artichael Gasiewski 9062 45 201 John Boden 9157 45 teve N. Painter 9757 45 216 Thomas K. Bond 10414 48 ohn P. Painter 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 dike Archambault 0 0 bk196 Mark W. Brown 0 0 0 ane 29 - 29 - Beerhunters - Lane 30 - 8 - Uncle Lenny's Hoes 9447 45 tike Anderson 7340 42 180 Vito LaFata 6956 39 omovin T. Cynowa 9356 42 212 Scott Claeys 9444 45 ane Sock 0 0 bk204 Mattson 3638 18 an Bock 0 bk204 Mattson 3638 18 an Sock 0 bk204 Mattson 3638 18 an Bock 0 b								1		
teve M. Painter 9757 45 216 Thomas K. Bond 10414 48 d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 tike Archambault 0 0 Mark W. Brown 0 0 ane 29 - 29 - Beerhunters Lane 30 - 8 - Uncle Lenny's Hoes 10414 48 tike Anderson 7340 42 180 Wito LaFata 6956 39 on Cynowa 8510 45 189 Randy Krzewski 5275 36 onovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 teve Cynowa 8935 42 212 Scott Claeys 9444 45 tic A. Haddad 0 0 bk204 Matt Watson 3638 18 an Bock 0 0 bk204 Matt Watson 420 24 ane 31 - 33 - Dilly Dilly Itam 32 - 28								1		
d Worth 1626 9 180 Ryan Staschke 714 3 ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 tike Archambault 0 0 bk196 Mark W. Brown 0 0 ane 29 - 29 - Beerhunters Lane 30 - 8 - Uncle Lenny's Hoes 9447 45 raig Kromrei 8874 48 184 Jeff Schulte 9447 45 om Cynowa 8510 45 189 Randy Krzewski 5275 36 onovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 teve Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Haddad 0 0 bk204 Matt Watson 638 18 an Bock 0 0 bk204 Matt Watson 4326 24 I Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly Lane 32 - 28 - CMS Realty 142 203 Wili Cicalo I 7749								2		
ohn P. Painter 1524 9 169 Raymond Chizmadin 1084 6 tike Archambault 0 0 bk196 Mar W. Brown 0 0 ane 29 - 29 - Beerhunters - Lane 30 - 8 - Uncle Lenny's Hoes - - - - - 0 0 ane 29 - 29 - Beerhunters - B874 48 184 Jeff Schulte 9447 45 tike Anderson 7340 42 180 Vito LaFata 6956 39 om Vynowa 8510 45 189 Randy Krzewski 5275 36 onovin T. Cynowa 8935 42 212 Scott Claeys 9444 45 teve Cynowa 8935 42 212 Scott Claeys 9444 45 teve Cynowa 8937 0 0 bk204 Matt Watson 3638 18 an Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wrzykowski 3079 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>2</td></t<>								2		
tikk Archambault 0 0 bk196 Mark W. Brown 0 0 ane 29 - 29 - Beerhunters Lane 30 - 8 - Uncle Lenny's Hoes raig Kromrei 8874 48 184 Jeff Schulte 9447 45 like Anderson 7340 42 180 Vito LaFata 6956 39 om Cynowa 8510 45 189 Randy Krzewski 5275 36 onovin T. Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Haddad 0 0 bk204 Matt Watson 3638 18 ana Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ana Bock 0 0 bk209 Megan A. Alexander 6991 42 om Stockton 6565 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 oave Maiorana 10476				180				bk2		
Lane 30 - 8 - Uncle Lenny's Hoes raig Kromrei 8874 48 184 Jeff Schulte 9447 45 fike Anderson 7340 42 180 Vito LaFata 6956 39 om Cynowa 8510 45 189 Randy Krzewski 5275 36 om Cynowa 9356 48 194 Timothy Lovell 4202 21 teve Cynowa 8935 42 212 Scott Claeys 9444 45 ana Bock 0 0 bk204 Matt Watson 3638 18 ana Bock 0 0 bk204 Matt Watson 3638 18 ana Bock 0 0 bk204 Megan A. Alexander 1012 6 i Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ana Bock 0 0 bk204 Will Cicalo 2779 18 om Stockton 6656 39 170 Ben Cicalo 5149 <td></td> <td></td> <td></td> <td></td> <td> A second sec second second sec</td> <td></td> <td></td> <td>bk1</td>					 A second sec second second sec			bk1		
Traig Kromrei887448184Jeff Schulte944745fike Anderson734042180Vito LaFata695639om Cynowa851045189Randy Krzewski527536ionovin T. Cynowa935648194Timothy Lovell420221teve Cynowa893542212Scott Claeys944445ric A. Haddad00bk204Matt Watson363818ana Bock00bk209Megan A. Alexander10126I Wyrzykowski307915205Dave Hemmen432624ana 31 - 33 - Dilly DillyEuroEuro 277918are 31 - 33 - Dilly Dilly 555246189Joshua A. Strader699142om Stockton665639170Ben Cicalo277918oe Ross854042203Will Cicalo II774942ave Maiorana1047648218Mike Strader543227ohn P. Kelley106642242Bill Cicalo950948aron A. Wilks12476bk217Ken Cicalo514927yan Preston255112212Ryan W. Peoples480524yolanda M. Cicalo514927Yolanda M. Cicalo514927yan Preston255112212Jordan A. Adams677445enjamin Gregory		0	0	bk196		0	0	bk1		
tike Anderson 7340 42 180 Vito LaFata 6956 39 om Cynowa 8510 45 189 Randy Krzewski 5275 36 onovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 teve Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Haddad 0 0 bk204 Matt Watson 3638 18 an Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly T Lane 32 - 28 - CMS Realty 42 6 189 Joshua A. Strader 6991 42 ant Kelley 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242					Lane 30 - 8 - Uncle Lenny's Hoes					
Som Cynowa 8510 45 189 Randy Krzewski 5275 36 Sonovin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 teve Cynowa 8935 42 212 Scott Claeys 9444 45 teve Cynowa 8935 42 212 Scott Claeys 9444 45 ane Bock 0 0 bk204 Matt Watson 3638 18 ana Bock 0 0 bk204 Megan A. Alexander 1012 6 ans Stere	raig Kromrei	8874	48	184	Jeff Schulte	9447	45	2		
onvin T. Cynowa 9356 48 194 Timothy Lovell 4202 21 teve Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Haddad 0 0 bk204 Matt Watson 3638 18 an Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly Lane 32 - 28 - CMS Realty 42 203 mar Strader 6991 42 om Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149			42				39	1		
teve Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Haddad 0 0 bk204 Matt Watson 3638 18 an Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wyrzykowski 3079 15 205 Dave Hemmen 426 24 ane 31 - 33 - Dilly Dilly Etame 32 - 28 - CMS Realty 6991 42 ane 31 - 33 - Dilly Dilly 5562 46 189 Joshua A. Strader 6991 42 om Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 yolanda M. Cicalo	om Cynowa	8510	45	189	Randy Krzewski	5275	36	1		
teve Cynowa 8935 42 212 Scott Claeys 9444 45 ric A. Haddad 0 0 bk204 Matt Watson 3638 18 an Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wyrzykowski 3079 15 205 Dave Hemmen 426 24 ane 31 - 33 - Dilly Dilly Etame 32 - 28 - CMS Realty 6991 42 ane 31 - 33 - Dilly Dilly 5562 46 189 Joshua A. Strader 6991 42 om Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 yolanda M. Cicalo	onovin T. Cynowa	9356	48	194	Timothy Lovell	4202	21	2		
an Bock 0 0 bk209 Megan A. Alexander 1012 6 I Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly 5 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly Lane 32 - 28 - CMS Realty 6991 42 ane 31 - 33 - Dilly Dilly Joshua A. Strader 6991 42 om Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 5509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24		8935	42	212	Scott Claeys	9444	45	2		
Al Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly Lane 32 - 28 - CMS Realty 12 <t< td=""><td>ric A. Haddad</td><td>0</td><td>0</td><td>bk204</td><td>Matt Watson</td><td>3638</td><td>18</td><td>2</td></t<>	ric A. Haddad	0	0	bk204	Matt Watson	3638	18	2		
M Wyrzykowski 3079 15 205 Dave Hemmen 4326 24 ane 31 - 33 - Dilly Dilly Lane 32 - 28 - CMS Realty 42 vat Kelley 8562 46 189 Joshua A. Strader 6991 42 om Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 oave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 oave Maiorana 10476 6 bk217 Ken Cicalo 5149 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 oave Maiorana 1247 6 bk217 Ken Cicalo 5149 27 ohn P. Kelley 2551 12 212 Ryan W. Peoples 4805 24 oar A. Wilks 1247 6 bk217 Ken Cicalo 166 92 aan 33 - 22 - Cinco Bo	an Bock	0	0	bk209	Megan A. Alexander	1012	6	bk1		
hat Kelley 8562 46 189 Joshua A. Strader 6991 42 fom Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 oave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 tyan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 9 9 9 9 ane 33 - 22 - Cinco Borrachos Eane 34 - 30 - RNP Roofing 166 9 9 areg Wells 8148 48 169 Wendall Ross 7577 42 tenjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44	l Wyrzykowski	3079	15	205	-	4326	24	1		
hat Kelley 8562 46 189 Joshua A. Strader 6991 42 fom Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 rave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 areg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733	ane 31 - 33 - Dilly Dilly				Lane 32 - 28 - CMS Realty					
om Stockton 6656 39 170 Ben Cicalo 2779 18 oe Ross 8540 42 203 Will Cicalo II 7749 42 oave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aaron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 9 9 1669 9 ane 33 - 22 - Cinco Borrachos Eane 34 - 30 - RNP Roofing 1669 9 areg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 <t< td=""><td></td><td>8562</td><td>46</td><td>189</td><td></td><td>6991</td><td>42</td><td>1</td></t<>		8562	46	189		6991	42	1		
oe Ross 8540 42 203 Will Cicalo II 7749 42 ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 9 1669 9 9 ane 33 - 22 - Cinco Borrachos Eane 34 - 30 - RNP Roofing 1669 9 9 reg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gr		6656	39	170	Ben Cicalo	2779		1		
ave Maiorana 10476 48 218 Mike Strader 5432 27 ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 ane 33 - 22 - Cinco Borrachos Eane 34 - 30 - RNP Roofing 9 reg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 latt Krass 4931 30 164 Joe J. Baxter 0 0 0								1		
ohn P. Kelley 10166 42 242 Bill Cicalo 9509 48 aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 ane 33 - 22 - Cinco Borrachos Eane 34 - 30 - RNP Roofing reg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 latt Krass 4931 30 164 Joe J. Baxter 0 0								2		
aron A. Wilks 1247 6 bk217 Ken Cicalo 5149 27 yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 ane 33 - 22 - Cinco Borrachos Eane 34 - 30 - RNP Roofing 166 9 reg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 latt Krass 4931 30 164 Joe J. Baxter 0 0								1		
yan Preston 2551 12 212 Ryan W. Peoples 4805 24 Yolanda M. Cicalo 1669 9 ane 33 - 22 - Cinco Borrachos Lane 34 - 30 - RNP Roofing reg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 latt Krass 4931 30 164 Joe J. Baxter 0 0								1		
Yolanda M. Cicalo 1669 9 ane 33 - 22 - Cinco Borrachos Lane 34 - 30 - RNP Roofing reg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 latt Krass 4931 30 164 Joe J. Baxter 0 0								2		
Lane 34 - 30 - RNP Roofing Ireg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 Matt Krass 4931 30 164 Joe J. Baxter 0 0	<u>,</u>	2001	14	212				1		
Arreg Wells 8148 48 169 Wendall Ross 7577 42 enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 Matt Krass 4931 30 164 Joe J. Baxter 0 0	ano 33 - 22 - Cinco Rorrochos					1005	-			
enjamin Gregory 7255 42 172 Jordan A. Adams 6774 45 ason M. Siskowski 5503 33 166 Joe Glaser Jr 7239 44 erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 Matt Krass 4931 30 164 Joe J. Baxter 0 0		Q1/Q	10	160		7577	10	1		
ason M. Siskowski550333166Joe Glaser Jr723944erry Huyghe889048186Richard W. Loomis830542ohn A. Gregory673336187Paul Loomis981245latt Krass493130164Joe J. Baxter00	the second s							-		
erry Huyghe 8890 48 186 Richard W. Loomis 8305 42 ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 latt Krass 4931 30 164 Joe J. Baxter 0 0										
ohn A. Gregory 6733 36 187 Paul Loomis 9812 45 Iatt Krass 4931 30 164 Joe J. Baxter 0 0								1		
latt Krass 4931 30 164 Joe J. Baxter 0 0	, ,,							1		
								2		
Rick Hayes 0 0	Iall Krass	4931	30	164			1.5	bk2		
Brandon Niblock 432 3								bk1 bk1		

FIRST HALF FINAL STANDINGS

Team Standings

Disco	1		Term Neme	Points Won	Points	9/ M	Team	Scratch	High	High
<u>Place</u> 1	Lane 27		Team Name Let's Go Brandon	<u>won</u>	Lost 37	<u>%Won</u> 74.3	<u>Avg</u> 974	Pins 46620	<u>Game</u> 1170	<u>Sers</u> 3212
2	19	10	Team 10	107	40	74.3	1048	40020	1155	3282
3	8	1	Ultimate Car Care	100	44	69.4	1048	49098	1219	3253
4	16	13	Its Just a Dic	92	52	63.9	1035	49828	1178	3354
5	12	11	Band Of Brothers	90	54	62.5	996	47863	1142	3266
6	22	14	It is What It Is	86	58	59.7	1041	50082	1245	3503
7	28	7	Turn The Page	841/2	59 1/2	58.7	980	47216	1139	3138
8	24	31	MILF Hunters	82	62	56.9	1028	49326	1161	3226
9	21	27	Smallz Crew	81	63	56.3	1018	48906	1161	3307
10	9	21	P.L.J. Distributing	79	65	54.9	998	47896	1135	3186
11	7	23	I.P.C.	78	66	54.2	992	47481	1136	3202
12	29	29	Beerhunters	77	67	53.5	959	46094	1100	3129
13	5	5	Shallow AL's	76	68	52.8	930	44880	1071	3143
14	15	17	Country Inn	75½	68 1/2	52.4	1001	47818	1103	3135
15	25	34	Nothin' Wrong With That	75	69	52.1	946	45279	1078	3086
16	10	15	Wasik Funeral Home	74	70	51.4	962	46183	1092	3137
17	14	26	Avay Lawn Service-Lanscape	71	73	49.3	974	45963	1064	3028
18	30	8	Uncle Lenny's Hoes	71	73	49.3	961	45362	1086	3054
19	23	18	Dead Squirrels	70	74	48.6	992	47642	1165	3308
20	20	12	Team 12	68	76	47.2	1001	48115	1192	3295
21	32	28	CMS Realty	68	76	47.2	903	44551	1147	3074
22	33	22	Cinco Borrachos	65	79	45.1	880	41979	1017	2848
23	18	32	5 Guys - 9 Balls	64	80	44.4	1029	46001	1198	3354
24	31	33	Dilly Dilly	63	81	43.8	1022	49036	1160	3294
25	2	9	M & M Garage Doors	61	83	42.4	1012	47187	1142	3310
26	3	25	Radical Storm	60	84	41.7	933	44749	1079	3081
27	4	2	Stick That Bitch	59	85	41.0	962	46301	1085	3114
28	11	24	Top Notch Installations	59	85	41.0	902	42714	1025	2833
29	13	6	WE DRINK	58	86	40.3	942	45722	1107	3141
30	6	16	Deuce and a Quarter	56	88	38.9	1003	47627	1152	3228
31	34	30	RNP Roofing	55	89	38.2	921	43468	1044	2937
32	1	20	Macomb Group	51	93	35.4	934	44150	1064	2988
33	17	4	Capstone Tax Services	45	99	31.3	923	43166	1090	2987
34	26	3	Handicrap	43	101	29.9	880	39252	1104	2915

WEEK 17 JACKPOT RESULTS

	JACKPOT RESULTS										
Lane	2	Craig	1ST GAME SPECIAL	\$5	\$130		Mike Lattuca 300				
Lane	2	Craig	HIGH GAME of NIGHT	\$5	\$120		Mike Lattuca 300				
Lane	11	Vito	BOX MYSTERY (1st-2nd)	\$5							
Lane	11	Joe	MYSTERY	\$5							
Lane	11	Steve	ELIMINATION	\$5	\$250		Milasinovich 279 2nd-\$100 Barnes 257				
Lane	13	RyanPaul	OVER AVERAGE 1-2	\$5	\$100	1	Mike Lattuca +80				
					\$100	2	Pat Teahan +63				
Lane	13	RyanPaul	OVER AVERAGE 3	\$5	\$205	3	James Barnes +46				
Lane	13	RyanPaul	TOTAL OVER AVERAGE	\$5	\$205		R.Loomis-Talerico +116				
Lane	13	RyanPaul	3RD GAME SPECIAL	\$5	\$205		Cater Milasinovich 279				
Lane	13	RyanPaul	MEGA MYSTERY	\$2							
Lane	15	Paul	50/50	\$0	\$380		3-Jackpots 3 Winners				
Lane	16	Pat	HIGH GAME 1-2-3	\$10	\$120	1	Mike Lattuca 300				
					\$120	2	Budman 279				
					\$120	3	Carter Milasinovich 279				
Lane	16	Pat	TOTALS	\$5	\$145		Carter Milasinovich 765				
Lane	16	Pat	POT-O-GOLD	\$5	\$110		Mike Lattuca 300 - New Week 17				
Lane	16	Dan	CONSECUTIVE X's (2nd)	\$2	\$144		Barnes-S.Painter 6				
Lane	16	Bud	1-NUMBER MYSTERY (2nd)	\$2							
Lane	32	Radtke	Best 2	\$5	\$135		Carter Milanovich 537				
Lane	32	Radtke	2nd GAME SPECIAL	\$5	\$ 180		Budman 300				
Lane	33	#8	STRIKE BALL	\$0	\$1,000		Multiple Winners				

2023-2024 KNIGHTS & GUARDS PRIZE LIST

1ST	 \$	6,000	18TH	2252	\$ 700
2ND	 \$	3,500	19TH		\$ 675
3RD	 \$	2,400	20TH		\$ 650
4TH	 \$	1,800	21ST		\$ 625
5TH	 \$	1,600	22ND	777	\$ 600
6TH	 \$	1,400	23RD	<u>77552</u>	\$ 580
7TH	 \$	1,300	24TH	222	\$ 560
8TH	 \$	1,200	25TH		\$ 540
9TH	 \$	1,150	26TH		\$ 520
10TH	 \$	1,100	27TH		\$ 500
11TH	 \$	1,050	28TH	1000	\$ 480
12TH	 \$	1,000	29TH	0.502	\$ 470
13TH	 \$	950	30TH		\$ 460
14TH	 \$	900	31ST		\$ 450
15TH	 \$	850	32ND		\$ 440
16TH	 \$	800	33RD		\$ 430
17TH	 \$	750	34TH		\$ 420

PER HALF